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H,(x) =2xH ,,(x) —2(n —DH ,_, (x)
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H,(x) =1

H,(x) =2x

H,(x) =4x* =2

H,(x) =8x> —12x

H,(x) =16x* —48x* +12
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NB. Hermite Polynomial
NB.  programmed by T.N. 2014/3/23

wr =: 11:2&2
herm =: 3 : 0
n:
H =, (O n$
1:
whlle I <:n
do.
wr Ci:, Uid
if. 1 =0 do. Hx =. (1, 1)$1 end.
if. i =1 do. Hx =. 0, 2 end.
if. 1 > 1 do.
Hx0 =. 0, 2 * (i-1) { H
Wr ’HXO:’, 7 Hx0
Hxl =, ( * (i-1) = (i-2){ H) ,
"Hxl:”, ”:Hxl
Hx =, HXO + Hxl
end.
H=. H, Hx
i=.1+1
Wr’ ________ ’
end
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herm 6

1:4
Hx0:0 0 24 0 16
Hx1:12 0 24 0 0

i:6
Hx0:0 0 240 0 320 0 64
Hx1: 120 0 480 0 160 0 0

1 0 0 0 0 0 0

0 2 0 0 0 0 0

2 0 4 0 0 0 0

0 12 0 8 0 0 0
120 48 0 16 0 0

0 120 0 _160 032 0
120 0 720 0 480 0 64
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load 'numeric’
load ’'plot’

test =: 3 : 0

. range 3 3 0.1

=. 2+ 4*X"2 NB. Hermite
EX=."--: X2 NB. exp(-1/2 % X"2)

coef =: 3 : 7 ((27y.)*(! y.)) " (-1r2)’

run =: 3 : 0
X =, range 3.5 3.5 0.1

HOX =. 1
HIX =. 2 = X

H2X = 2 + 4 % X°2

H3X =. ( 12%X) + (8%X°3)

HAX =, 12 + (48+X"2) + (16%X°4)

H5X =. (120%X) + (_160%X"3) + (32¥X"5)

EX=. ~--:X"2

. 1r2 + 0.5*%(coef 0)*HOX * EX
. 3r2 + 0.5*%(coef 1)*H1X * EX
. 5r2 + 0.5*%(coef 2)*H2X * EX
. 7r2 + 0.5*%(coef 3)*H3X * EX
. 9r2 + 0.5*%(coef 4)*H4X * EX
. 11r2 + 0.5*(coef 5)*H5X * EX
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Z =.1r2 *X"2
Y=. 7,55 Y4,Y3 Y2, Y1,: YO

plot X;Y
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1. Plot




